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w i t h ( p l o t s ) :
E q n 0 2 : = d i f f ( y ( t ) , t $ 2 ) + 2 * d i f f ( y ( t ) , t ) + 2 * y ( t ) = H e a v i s i d e ( t - P i ) -
H e a v i s i d e ( t - 2 * P i ) ;
Y1 :=dso lve ( {Eqn02 ,y (0 )=0 ,D (y ) (0 )=1} ,y ( t ) ) ;
A : = p l o t ( r h s ( Y 1 ) , t = 0 . . 9 , c o l o r = r e d ) :
B : = p l o t ( H e a v i s i d e ( t - P i ) - H e a v i s i d e ( t - 2 * P i ) , t = 0 . . 9 ,  c o l o r = g r e e n ) :
d i s p l a y ( A , B ) ;

E q n 0 4 : = d i f f ( y ( t ) , t $ 2 ) + 4 * y ( t ) = s i n ( t ) + H e a v i s i d e ( t - P i ) * s i n ( t - P i ) ;
Y4 :=dso lve ( {Eqn04 ,y (0 )=0 ,D (y ) (0 )=0 } ,y ( t ) ) ;
A : = p l o t ( r h s ( Y 4 ) , t = 0 . . 9 , c o l o r = r e d ) :
B : = p l o t ( s i n ( t ) + H e a v i s i d e ( t - P i ) * s i n ( t - P i ) , t = 0 . . 9 ,  c o l o r = g r e e n ) :
d i s p l a y ( A , B ) ;
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E q n 0 6 : = d i f f ( y ( t ) , t $ 2 ) + 3 * d i f f ( y ( t ) , t ) + 2 * y ( t ) = H e a v i s i d e ( t - 2 ) ;
Y6 :=dso lve ( {Eqn06 ,y (0 )=0 ,D (y ) (0 )=1 } ,y ( t ) ) ;
A : = p l o t ( r h s ( Y 6 ) , t = 0 . . 7 , c o l o r = r e d ) :
B : = p l o t ( H e a v i s i d e ( t - 2 ) , t = 0 . . 7 ,  c o l o r = g r e e n ) :
d i s p l a y ( A , B ) ;
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E q n 0 8 : = d i f f ( y ( t ) , t $ 2 ) + d i f f ( y ( t ) , t ) + ( 5 / 4 ) * y ( t ) = t - H e a v i s i d e ( t - P i / 2 )
* ( t - P i / 2 ) ;
Y8 :=dso lve ( {Eqn08 ,y (0 )=0 ,D (y ) (0 )=0 } ,y ( t ) ) ;
A : = p l o t ( r h s ( Y 8 ) , t = 0 . . 9 , c o l o r = r e d ) :
B : = p l o t ( t - H e a v i s i d e ( t - P i / 2 ) * ( t - P i / 2 ) , t = 0 . . 9 ,  c o l o r = g r e e n ) :
d i s p l a y ( A , B ) ;
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>  >  E q n 1 6 : = d i f f ( y ( t ) , t $ 2 ) + ( 1 / 4 ) * d i f f ( y ( t ) , t ) + y ( t ) = k * ( H e a v i s i d e ( t - 3 / 2 )
- H e a v i s i d e ( t - 5 / 2 ) ) ;
Y16 :=dso lve ( {Eqn16 ,y (0 )=0 ,D (y ) (0 )=0} ,y ( t ) ) ;
a n i m a t e ( p l o t , [ r h s ( Y 1 6 ) , t = 0 . . 1 0 ] , k = 0 . 1 . . 2 . 5 ) ;
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N:=15;
Eqn19 :=d i f f ( y ( t ) , t $2 )+y ( t )=Heav is ide ( t )+2 *sum( ( -1 )^k*Heav is ide ( t -
k * P i ) , k = 1 . . N ) ;
Y1:=dsolve({Eqn19,y(0)=0 ,D(y) (0 )=0} ,y ( t ) ,method=laplace) ;
p l o t ( r h s ( Y 1 ) , t = 0 . . 2 0 * P i ) ;
N:=30;
Eqn19 :=d i f f ( y ( t ) , t $2 )+y ( t )=Heav is ide ( t )+2 *sum( ( -1 )^k*Heav is ide ( t -
k * P i ) , k = 1 . . N ) ;
Y1:=dsolve({Eqn19,y(0)=0 ,D(y) (0 )=0} ,y ( t ) ,method=laplace) ;
p l o t ( r h s ( Y 1 ) , t = 0 . . 5 0 * P i ) ;
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w i t h ( i n t t r a n s ) :
N:=5;
E q n 2 0 : = d i f f ( y ( t ) , t $ 2 ) + ( 1 / 1 0 ) * d i f f ( y ( t ) , t ) + y ( t ) = H e a v i s i d e ( t ) +
2 *Sum( ( -1 )^k*Heav is ide ( t -k *P i ) , k=1 . .N ) ;
Y1 := lap lace (Eqn20 , t ,s ) ;
Y2:=subs(y(0 )=0 ,D(y) (0 )=0 ,Y1) ;
Y 3 : = s o l v e ( Y 2 , l a p l a c e ( y ( t ) , t , s ) ) ;
Y 4 : = i n v l a p l a c e ( Y 3 , s , t ) ;
p l o t ( Y 4 , t = 0 . . 1 0 0 ) ;






